2R

XINGCHEN

FHBREAZAM, AAO=ZA)4RERT)

I
P @ g

Bt A
Wit ARZIDON o~

[y

Grawes O
" ®

=
W #s
A B
=1
| 3 £edi
i BlE: 4R110-06
S 06 —~—
= 0.5r———] =~
0.4 — ~q
R 03 N
B 0.2 T T B
E 0.1 Y A\
# g IS Iy 1Y AN \
0 300 600 900 1200
#M (L/min)
€. 4R210-08
0.7 T
0.4 ™
" 0.3 — P \\ \\
B 0.2 — \\ \\ \'l‘
g 0.1 ~ )
E 3 AN
0 400 800 1200 1600
Hi it (L/min)
#E: 4R310-10
0.7 =T
@ 0.6 = —
o I — -
0.5
0.3 s
i 02 I
B 0.1 = — X \ \
& 0 N LA
0 400 800 1200 1600 2000 2400
ik (L/min)

W R A
qE 4R110-06 4R210-06 4R210-08 4R310-08 4R310-10
TEM R A (£340 p miL 38 ) )
BiEARX FEHEHA
EEORD G1/8 G1/4 G3/8
Auma 12.0mm" | 14.0mm’ 16.0mm* 25.0mm’ 30.0mm"
(Cv=0.67) | (Cv=0.78) | (Cv=0.89) (Cv=1.39) | (Cv=1.67)
fir I 8 EO-f
Rz IEE
/R E H3EE 0-0.8MPa(0-114psi)
RIEMERN 1.5MPa(215psi)
I#HBEET -20~70
iR BEE
VR FRHEPT, NPTHFAH%E;
WA MR, hRAATEE, BiDHBHISOVEI2ME R M.
W ESRTH%
_4R_ 2 10 08
(mErS) AIRE TR S BEOR
4R: 1: 10083 10: —{u® 100%5): 06: G1/8"
RAOZFHE 2: 200%%) 200% %) 06: G1/8"
3: 300%7%) 08: G1/4"
300%%|.08: G1/8"
10: G3/8"
B Sh R ~HE(EX)
Eiﬁ Ll
(@]
<<
e
.\'-' ‘K ot
Fa
' 9g ':'o o® a
=] F— 8
_KC
#8\®E 4R110-06 4R210-06 4R210-08 4R310-08 4R310-10
A 98 106 106 | 121.5 121.5
AB 58.8 65.8 65.8 | 81 81
AC 10 10 10 10 10
B 18 22 22 27 27
e 27 35 a5 40 40
D 25 25 25 25 25
E M12x0.75 | M14x1.0 | M14x1.0 | M16x1.0 | M16x 1.0
K 3.9 4.3 4.3 4.3 4.3
KA 14 20 20 24 24
KB 22 22.5 22.5 28.5 28.5
KC 19 23.5 23.5 27.5 27.5
L 3.3 3.4 3.3 4.3 4.3
LA 30 38 38 50 50
LB 13 17 17 20 20
LC 14 13.5 13.5 15.5 15.5
P PT1/8 PT1/8 PT1/8 PT1/4 PT1/4
PA 16 18 21 22 24
PB 3 0 3 0 4
PC 21 23.5 22 29.5 28.5
PD 29 32.5 32.5 40.5 40.5
Q PT1/8 PT1/8 PT1/4 PT1/4 PT3/8
QA 28 36 36 45 45
QB 2 0 0 0 0
Qc 15 14.5 14.5 18 18

226




